brevini

c R U - M R J‘f fluid power

ONE-WAY CHECK VALVES

The unidirectional check valve allows oil to flow in only one direction. The
cod. 200 222 00 SR 19 07 guided ball seal is made of tempered and g‘round stee_l._
The spring allows the valve to be mounted in any position.
> Also available with 1/4"BSP auxiliary pressure outlet.
g It has a galvanised steel body.
) PR S
N s ;
HYDRAULIC FEATURES
Qe
Max. working pressure 220 bar
cod. 200 246 00 205 | 19 0.7 Max. Flow 10 I/min
2 Max. Leakage (0 + 5 drops/min) 0+0.25 cm¥min
\ 2 . Crack pressure 1 bar
o
@ i Qo = Hydraulic fluid DIN 51524 Mineral oils
¥ X H G o 2 S
= S s Fluid viscosity 10 = 500 mm?/s
Fluid temperature -25°C +75°C
Ambient temperature -25°C + 60°C
Q17 Max. contamin. level class with filter ISO 4406:1999 - class 19/17/14
- Tightening torque 16+ 19 Nm
00012002 |Spare seals kit _ :
Cavity (M15x1) CN033001 (See section 15)
HYDRAULIC SYMBOLS ORDERING CODE
2 1 2 1
—W j—AvAvAvC)— Code Type Weight
X
20022200 2 way 0.035 kg
cod. 20022200 cod. 20024600 20024600 3 way 0.042 kg
PRESSURE DROPS
10
8
-
4
2 //
0
0 4 6 8 10
Q (/min)
Fluid used: mineral based oil with viscosity 32 mm?/s at 50°C.
IE/CRU-MR/001/2011 CAT:BFP/VCAR Page:40 | SHEET: 1/1 ONE-WAY CHECK VALVES | 4 |
( HOME J [ INFO ] ( VALVES INDEX )




CRU-MC/MS

brevini

J‘f fuid power

ONE-WAY CHECK VALVES

cod. 200 204 00

The unidirectional check valve allows oil to flow in only one direction. The

75, 36 guided ball seal is made of tempered and ground steel.
‘ The spring allows the valve to be mounted in any position.
2 - Also available with 1/4"BSP auxiliary pressure outlet.
0 It has a galvanised steel body.
: B NI PR
s
HYDRAULIC FEATURES
Q 19
cod. 200 239 00
G 36 Max. working pressure 210 bar
12 Max. Flow 20 /min
Max. Leakage (0 + 5 drops/min) 0+0.25 cm¥min
2 —T Crack pressure 0.5 bar
% X B _ /) 1 2 X Hydraulic fluid DIN 51524 Mineral oils
% J s 2 -
& = Fluid viscosity 10 = 500 mm?/s
Fluid temperature -25°C +75°C
Ambient temperature -25°C + 60°C
Q 19 Max. contamin. level class with filter ISO 4406:1999 - class 19/17/14
- Tightening torque 28 =32 Nm
00012016  |Spare seals kit _ :
Cavity (M16x1.5) CNO03704 (See section 15)
HYDRAULIC SYMBOLS ORDERING CODE
2 1 2 1
—W j—AvAvAvC)— Code Type Weight
X
20020400 2 way 0.041 kg
cod. 20020400 cod. 20023900 20023900 3 way 0.070 kg
PRESSURE DROPS
3.0
2.5
2.0
51.5
<
10
0.5 ]
0
0 4 8 12 16 20 24
Q (I/min)
Fluid used: mineral based oil with viscosity 32 mm?/s at 50°C.
IE/CRU_MC-MS/002/2014 CAT: BFP/VCAR Page: 41 SHEET: 1/1 ONE-WAY CHECK VALVES n
( HOME J [ INFO ] ( VALVES INDEX )




CRUO4 Y i

ONE-WAY CHECK VALVES

The check-valves permit one-directional oil flow only. On the opposite side
the sealing is guaranteed by a hardened and ground taper steel poppet. The
175 - 27 spring permits an easy valve installation in any position. External steel body
protected on surface by zinc plating.

445

i
Y

i
Y

i
-
~ =
1 S ©
) v o= HYDRAULIC FEATURES
Y
Max. working pressure 350 bar
Max. Flow 40 |/min
Max. Leakage (0 + 5 drops/min) 0+ 0.25cm®/min
‘ 00012003 ‘Spare seals kit ‘ Hydraulic fluid DIN 51524 Mineral oils
Fluid viscosity 10 + 500 mm?/s
Fluid temperature -25°C +75°C
HYDRAULIC SYMBOL 2 : 1 Ambient temperature -25°C + 60°C
A C Max. contamin. level class with filter ISO 4406:1999 - class 19/17/14
Weight 0.08 kg
Tightening torque 25+30Nm
PILOT SPOOL Cavity (3/4 - 16 UNF) CD018006 (See section 15)
Single
2 1
PRESSURE DROPS
Double
6
A2 Al B1 B2
. /
//
= ) //
% 3 7
<1
2 ///
e
Tvoe Spool (P) Cavity (C) Pilot 1 ]
L code (See section 15) ratio ,
Single F63400002 CD018015 1:2.9 0 5 1018 ;‘L/mff) 30 35 40
Double F63400003 CD018016 1:29 Fluid used: mineral based oil with viscosity 46 mm%/s at 40°C.
ORDERING CODE

_ Ry o o] 2]

| CRU = Check valve l—se”es 4' 2 = Serial No.

Size

|04 =3/4- 16 UNF |

Variants

01=0.3 bar [ 00 = No variants

00 = 0.7 bar (standard)
04 =45 bar
07 =7.5bar
10 =10 bar

Opening pressure

IE/CRUO4/ 001/2011 CAT: BFP/VCAR Page: 42 SHEET: 1/1 ONE-WAY CHECK VALVES n
( HOME J [ INFO ] ( VALVES INDEX )




CRUOG6

Jo Ve brevini

fuid power

ONE-WAY CHECK VALVES
The check-valves permit one-directional oil flow only. On the opposite side
the sealing is guaranteed by a hardened and ground taper steel poppet. The
49 spring permits an easy valve installation in any position. External steel body
protected on surface by zinc plating.
17 32
4.5
10 .
5= w
AN o 5 HYDRAULIC FEATURES
IS4 LS =
S ® )
P Jj: | = Max. working pressure 350 bar
O 2 Max. Flow 60 |/min
”7 Max. Leakage (0 + 5 drops/min) 0+ 0.25cm®/min
< Hydraulic fluid DIN 51524 Mineral oils
Fluid viscosity 10 + 500 mm?/s
00012017 ‘Spare seals kit Fluid temperature -25°C +75°C
Ambient temperature -25°C = 60°C
Max. contamin. level class with filter ISO 4406:1999 - class 19/17/14
Weight 0.10 kg
HYDRAULIC SYMBOL i 1 Tightening torque 35+40 Nm
LAY V( ) Cavity (7/8 - 14 UNF) CD019007 (See section 15)
PRESSURE DROPS
25
20 / 3
- 15 2
§ 10 // 1
//
s 1= CRUDB.OT .
| 2 = CRU06.03..
o =1 3 = CRUOG.05..
0 10 20 30 40 50 60
Q (I/min)
Fluid used: mineral based oil with viscosity 46 mm?/s at 40°C.
ORDERING CODE

. CRU

o6 [ = JLoo | 1|

| CRU = Check valve

Series

|06 =7/8- 14 UNF

Size

4' 1 = Serial No.

Variants [ K
01 = Standard - 0.5 bar Opening pressure 100 = No variants
03 =3 bar
05="5 bar
IE/CRU06/001/2011 CAT BFP/VCAR Page:43 | SHEET: 1/1 ONE-WAY CHECK VALVES n
( HOME J [ INFO ] ( VALVES INDEX )




CRIO04

Jo Ve brevini

fuid power

ONE-WAY CHECK VALVES (FOR POWER PACKS SERIES FP)

The check-valves permit one-directional oil flow only. On the opposite side

75.2 the sealing is guaranteed by a ball steel poppet. The spring permits an easy
75 67.7 valve installation in any position. External steel body protected on surface by
zinc plating.
u1
Ou: — @ u
T P 2 8w
N HYDRAULIC FEATURES
)24 8 8 o
S Max. working pressure 320 bar
00012004 ‘S s kit Max. Flow 20 |/min
pare seals X Max. Leakage (0 = 5 drops/min) 0+ 0.25 cm?/min
Hydraulic fluid DIN 51524 Mineral oils
Fluid viscosity 10 = 500 mm?/s
Fluid temperature -25°C = 75°C
HYDRAULIC SYMBOL
T ‘E_T‘CNT U Ambient temperature -25°C = 60°C
P u1 Max. contamin. level class with filter ISO 4406:1999 - class 19/17/14
Weight 0.09 kg
Tightening torque 25 =30 Nm
Cavity (3/4 - 16 UNF) CD018013 (See section 15)
PRESSURE DROPS (P — U)
4
3
5,
B
,
0 5 15 20
Fluid used: mineral based oil with viscosity
32 mm?/s at 50°C.
ORDERING CODE
" CRl | oa | ool 00| 1|

| CRI = Check valve

Series

4' 1 = Serial No.

[04=3/4- 16 UNF I Size Yorants ['00 = No variants |
| 00 = Standard - 0.5 bar I Qoering pressue
[ IE/CRI04/001/2011 CAT: BFP/VCAR Page:44 | SHEET: 1/1 ONE-WAY CHECK VALVES | 4 |

( HOME ) ([ INFO

) ( VALVES INDEX )




VALVE HOUSINGS

W=

brevini

fluid power
3/4-16 UNF
|
| 1
’ 76.5 ‘ — - - —- 0
Yy .
X CT} AN @
| ‘ T
T A= T
‘ T f
| . ‘
o
| 2
C
F
M
L | | J
> =
E
D E F G H I L M . )
Code C (mm) (mml (mm) (mm) (mm) (mm) (mm) (mm) Material Cavity
F07100013 | 1/4 BSP 46 50 30,5 33 18 38 6 30 Al
uminio
M18400061 | 3/8 BSP 55 60 38 41,25 25 45 7,5 30 EN AW 2011 | CD018006
M18400071 | 1/2 BSP 60 60 35 4 6 48 6 40
O
‘ L
3/4-16 UNF \
‘ |
\ 1 S
‘ E1 anne
”777#77 e v—::—:v‘ Y
" ‘ —i 1
\ )
, \‘/ o
L N
5 ‘
M N C F
I LL
D -
D E F G H I L M N 0 . .
Cods ¢ (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) Material Cavity
17030532 | 3/8BSP | 50 50 16 32 35 51 22 9 30 345 | Alluminium
CDO018006
V10500034 | 1/4BSP 40 46 1 31 26 49 19 8 30 26 EN AW 2011
IE/MANIFOLDS/003/2015 CAT BFP/VCAR Page:110 | SHEET: 1/2 VALVE HOUSINGS [ 14 |
( HOME J [ INFO ] ( VALVES INDEX )




VALVE HOUSINGS Y e

- 35 - @6.5No 2
3/8 BSP
L iz ‘
=) ; I
T A T
. & k
0] |
2 ———
A Y P
B N I A I IS R S|
Ll oo wf Y| ©
] 1 o
N |
e ‘ =
| / \
! |
'3 ]
3/8 BSP 17.5
- 18] 35
53
70
Code Material Cavity
M10850319 Alluminium - EN AW 2011 €D019006
14,5
-2
3/8 BSP 26.5No2 15
| 3 !
¥ 1
| ‘ =
— gé ==
re=—t—==-
< 2 Lo 183
I 1 A A R
3 S, S T
P
‘ | S
SEEE
| ’ ]
| 2 |
3/8 BSP 30
8 ‘44
26
60
Code Material Cavity
M10850206 Alluminium - EN AW 2011 CD018005
IE/MANIFOLDS/002/2012 CAT BFP/VCAR Page:111 | SHEET: 1/2 VALVE HOUSINGS [ 14 |

( HOME J [ INFO ] ( VALVES INDEX )




Jé Ve brevini

CAVITIES Huid power
CA012001 @14 H7 00 1/4 BSP CD018001 3/4 16UNF
220,65 0.5
A 1148SP 3/4" 16UNF 1005 [A]
@10 H7 +0.015 25 1+ ®15-§OOZ @ 20.02 B'C'D‘
’ £ 3 N <A Al £
a -%7\ g e u/ o o 5
< ‘ ~Noe r | =
i S, ik ‘32‘:%" £ £ %
3 = 7 ol o ~ ] SRS
og| 2| 82 o & N [B]—4.901° Ng g 8
35| g °2 2, 9 8~ L Y
5 2k A o 4o ,
82 b1 ¢
Max. @ 6.5 | Max. @ 11.5 ‘
@ 12.72 +0.02
@ 1432002 L
Plugs compatibility: Plugs compatibility:
| R78150114 | R78150109 | R78150111 |
CD018003 3/4 16UNF CD018005 15 3/4 16UNF
@27 230
206" f5e wos | |1 ]0.05]X
05]A 220.65
. | ]o0.05 /]005 Y
A 3/4"116UNF x % To0s 00 y
005 5| S . 3 LE E 215.9 E g
2/ 2 SO o = ~ WS 028 o &
‘ o /)< R N <
; e 34 g 8 ) ; £l 3
0y N 2 e & o o A 5
5 © 30‘ g7 = = & d 2 N
| ° 4] N
120° %
\
@13 max 213 max
° .—<Y °
214.30%2 B (Al g14_31003 < L
2159°% | 27 161 50.05]
Plugs compatibility: Plugs compatibility:
| 20001700 | 20001900 | \ \ \ \
226
CDO018006 3/4 16UNF CD018009 3/4 16UNF
228 3/4"-16UNF 1T oos [A
| @206%" § ©)| @o0.05 |B
‘ ‘ 3/4"-16UNF TT o0 TA - = {
& . ©)| @005 |B 5|2 QI g
| 0'9“%@ ﬁ s 2 < s
- ‘ S ¥ g 8 £| 8
5| @ Qt & 5 ; b E ElE
R 8| - = g 2 e ®l g
g E
120" al 2
211.5 max 2105
o .5 max
12.7°8% B] Y
2> =2
212.7°5" B]
Plugs compatibility: Plugs compatibility: -
| 20001900 | 20001700 | 20003800 | 20009400 | 20018000 || || 20001900 | 20001700 | 20003800 | 20003400 | 20018000 |

| IE/CAVITIES/005/2014

| CAT: BFP/VCAR Page: 114 | SHEET: 1/5

| CAVITIES

( HOME ) [

L

INFO

) ( VALVES INDEX )




Jé Ve brevini

CAVI I IES Huid power
CD018012 3/4 16UNF CD018013 926 3/4 16UNF
oz 220.6%"
+0.1
A 22060 750 ‘3/4 16UNF TT 005 A
c x
3/4" 16UNF F Blo00s A '90»9% s § g [Oleoos |B
B8] 3 N\ 1l 005 |B 32 QO@D al =
"o /?0-9 =l
A 1l Fea e
X o 9 f | — [t} g
o3| @ E © © S 9l e
ol o T % o g d . S E|
e @ CL £ ~ So| <o N © S
a 7 it El = T.o |2 © S
120° /] i 5| 58
TN Qe
o=
304
@14 max ; ; £o
3 @ 9 max .4
15.87 5% - ] g asios
' ~{Gle0.05 [B]
e @15.8°%0%
Plugs compatibility: Plugs compatibility:
| R78200A19 | 20001700 | 20001900 | \ || || R78150100 | \ \ \ \
CD018014 3/4 16UNF CD018015 3/4 16UNF
@28
(Ol 0005 [A}-P2000eus:
3/4" 16UNF I (G005 [A
3/4" 16UNF 212.7°0% 1| 005 |B
| L] 005 |A B : S £ %
450 20.05 | B S5 %o> ElE
Q o GEB 2 QI | =
Jalele b LRI *o B
o g S — 3 28 / A
gl <4 T o| £l@
E g 3 22
vl g s '
"50 o ‘v: = \(@(
@ 11.5 max ‘ "
212779 B \
e @ 8 max RO0.5 max
2> @12H779

Plugs compatibility:

Plugs compatibility:

| 20001900 | 20001700 | 20003800 | 20009400 | 20018000 |

| 20018000 | 20001700 | 20001900 | 20003800 | 20009400 |

| IE/CAVITIES/005/2014

| CAT: BFP/VCAR Page: 115 | SHEET: 2/5

CD018016 @28 3/4 16UNF CD019006 50 7/8 14UNF
+0.1
A @20.6 o |15° G4 2005
3/4" 16UNF N "
0127+005 ?00‘05 g ‘7/8 14UNF L oos 1A
. 7o : it >(().05 @17.5 0.02 45D© 2002 |B-C
[B] 35 &Qy E|E [
g2 7‘% g ; 32 2 /?0?5/—
- o @ QI ‘l c : =R
S EN Bieat] £l - e ! -
NI 1200 NS < . 2o € 3
@ 312.4%095 - QE o — N 8 N
Sl 201 5 3‘30 S
é n ) l<]§7\\ ‘ . - -—
il c &
[
— —+
max @ 14.5
(& 0.015 S, o127 215.9 002
Plugs compatibility: Plugs compatibility:
| 20018000 | 20001700 | 20001900 | 20003800 | 20009400 | \ \
[ cAVITIES | 15 |

( HOME ) [

L

INFO

) ( VALVES INDEX )




CAVITIES

brevini

W=

fluid power
CD019007 7/8 14UNF CD019011 7/8 14UNF
230 0%
e
7/8" 14UNF 1T 005 [A VS (P24 _LET0 0.05]A]
©15.9 20,02 ©| @0.05 |B /E-TAUNEL . 156 0.05[A]
5 _ 005
< i 150 5 3o Q 1*395 B
§° 332 0.4~
. 2 ?\02;005 v/ < ‘
c So| w é
< R E . of N 4 o
e 5 | @ q 8 ¢ 9 ° A1 g w
o 8 ‘ P ®° o | 20 3
3 AT | S )
o 4 4\ 9
g9 [B] 73 T
- { AN @12 max
‘ 13
max @ 14.5 o
[A] =12 9159 w0
Plugs compatibility: Plugs compatibility:
CG001002 % 1/8 BSP CG003004 3/8 BSP
G1/8"-H
‘ 225
0
8.8 0.1 < % 3/8 BSP ©] @0.05 A
£l 8 E| E
E 1| o1 |B
y B 2 s 8 8 5
1 16
e ]
°3| %2 & — L % Se| ©3
S T ‘/—7\ ¥ o =@
o = 13 | «
[5e) N ?O
S
2. /]
g/ |
@ 13 max
@ 14 H8 0"
-
Plugs compatibility: Plugs compatibility:
CN019002 M10X1 CN032005 M14X1.5
MR 0187’
+0.1
@ 8 Hg 00 oy @ @15.8 o
(D 7.8 Preforo/Prefinish) % g
) ) d ?é-‘g’ M14x1.5 @
i gd W Al 53
o 2 {‘ & S0 M10x1
g | i Oleoe A
! e 16 o
( 3| E g
b R E R 9 £
o °© & © & RO.201 ® &
& e
D N
Y 3}
Q r-! @ 4 max
1] 005 [] : T
R 0.2 max 16
/Too2 [A] 3 -
Ol 0.01 £
© @ 3.5 max
Plugs compatibility: Plugs compatibility:
[ IE/CAVITIES/005/2014 | CAT: BFP/VCAR Page:116 | SHEET:3/5 [ cAVITIES | 15 |

HOME J [ INFO

L

) ( VALVES INDEX )




CAVITIES

brevini

J‘f fluid power

CN033001 M15X1 CN036001 M16X1
o3 @23
w007 217.3%"
o D16 +0.02
30 [A]
< ‘ M5 x 1 A ©) @0.05 M
©] go.05 [A 1] 005 2158
‘(2514431 foro per filettatura E B E E
oS o threaded hole ’ 2 32 RQ.’L o <
3.2 ?vo- +§ E 8 OL -
&; ' \ S il @ uva ?\0' |
& g 3 12{(
$ : e i B
Max. @7 mm |
+0.2
(Olenos [a}2 ot ]
-0.1
Plugs compatibility: Plugs compatibility:
| 20019700 | 20021300 | \ \ \ \ \ \ \
CN037003 M16X15 | | CN037004 M16X1.5
216.5 o @
3 @29
M16x1.5 @ (2518-31
@125 H8 0 M16x1.5
;’: sl @ /': 250
. |
‘ \
[te}
- @ ] [t} =
g . L &
5 S o 8 gol o < ©
:7 ® o 5 I [y N
8 0 °
16
212 max
25 max (A] D 13 08
@14.5 01
Plugs compatibility: Plugs compatibility:
| R78260072 | \ || || 20006100 | \ \ \
CN041009 M18X1.5 CNO044001 @25 M20X1.5
@34
@21.4 =01
+0.05
2184 o
A 5 M20x1.5 1T o4 A‘
[©] 2005 [A M18x1.5 — /] 005 [BC]
216.5 01 ol € 3 E - 950
X E 5 \
0 Rl & ﬁ e 750
32 2 S| & v ol o /?0'2
So| » ' R07-0.8 i ) £
3o @ g o El o3
;o Q 0 ,bﬁ"ﬁ - £
g 1 ol g A :
| s |5
21357
max @ 14
@14 :gﬁg? 2
Plugs compatibility: Plugs compatibility:
| 20001600 | \ \ \ || || R78300562 | \
[ IE/CAVITIES/005/2014 | CAT: BFP/VCAR Page: 117 | SHEET:4/5 [ cAVITIES | 15 |

( HOME ) ([ INFO

L

) ( VALVES INDEX )




CAVITIES

W=

brevini

fluid power

CN047002 M22X1.5 CN047003 M22X1.5
@34
@34 223870
223875
|| 005 |A || 005 |A
M22x1.5 Bl 2002 B—‘C M22x1.5 ©O| w002 |B
il F5e
32 A : Q&Q’ P 7é>\ . ) /TTS . E
c < /< ™ qo2 5
£ 32 N ]
< |5 gﬁ/ 0l x
o | =g .
< | N = - x
M ek 2| 8 - 5
5|2 ) o | e &
3 @ 2 ?;’ 8 L~ &
: A\
ol B . 801 @
[c] S N
\ I
Max. @ 10.5 Max @16.5
p17H8 0" 217.5H8' "
219 H8 6™
Plugs compatibility: Plugs compatibility:
| R78050014 | \ || || R78400A17 | \ \
CNO051001 M24X2 CN059001 M27X1.5
M24x2 L 005 1A @335
0223 ©)| @0.02 |B @28"55%
A
222 H "0 X L 3 2
il 14 % '
2 {E > M27x1.5 @
o a5l @255
@ = c 92\
- € 32 o
o o 3
g° w0 T E o | E=
2 S ] I %
. : ® | E
é Q‘Q 25 ; g
B | N
1.6
| S |
; @12 max
Max. @13
Plugs compatibility: Plugs compatibility:
| R78300564 |
CNO070001 M33X2
¢33
0.01
M33x2
a1 Olw0.02]8]
$30,75 H8'"
fn\ @22 {E‘
‘_‘
~ s ‘\J/ I~
~ i ‘ 1.6,
| |
MAX. 20
Plugs compatibility: Plugs compatibility:
| R78400568 | \ \ \ \ \ \
[ IE/CAVITIES/005/2014 | CAT: BFP/VCAR Page: 118 | SHEET:5/5 [ cAVITIES | 15 |

( HOME

L

INFO

) ( VALVES INDEX )




	Pagina vuota

